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Question 1: Choose the correct answer: dasaaall 4N il (8%1=8 marks)
(1) (@2 =
(A) a® (B) a® (C) a® (D) a3
2 T 6 . .
The additive inverse of S is el kil

[}

(8) ¢ (© ¢ () -3

3) ©-

am
(4) Y=T6-
()2 (B) -4 (©) -2

(5) 42

(A) = (B) 1= (©)

(6) x2-25-=

(A) (x—5)(x—5) (B) (x +5)(x+5) (C) (x + 1)(x — 25) (D) (x —5)(x+5)

(1x3)+(2x2)

(1x3)+(2x2)
2+3

(D)

2x3

(7) »»+By?*=

(B) 4 y2 (C) 4 y* (D) 3y?
(8) 3v3-4v3

(A) —V3 (B)V3 (OB3-4)x0=0 (D) —v6

[ K3 (7-8) =2
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Question 2: (3%2=6 marks)
1) Simplify: 222" _3* b
6x—3 y4- y9

2) Multiply: (2x — 3)(2x2 + x — 5)

Q=
=2x(2x* +x—5) —3(2x%*+x—5)
= 4x3 + 2x*> — 10x — 6x*> — 3x + 15
= 4x3 — 4x*> — 13x + 15
3)Solve the inequality: —3 <2x-3 <7 Aasd s
0<2x<10
0<x<5
[ )
0 1
S5.5.=(0,5]
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Question 3: (3%2=6 marks)
1) Factor: 3x(2x +5) + 2(2x + 5) Jia
=(2x+5)3x+2)
2)Factor: (z3-1) e
=(z—1)(2°+z+1)
Aaleall Ja

3)Solve the equation: 5x—9 =3x-3
5*+3x=-3+9

2x =6
x=3
$.5.={3}

5$3&54=6
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